S01

FILE NAME:

2012-10-31

DATE:

SHEET TITLE: DEMOLITION PLAN, NEW ROOF FRAMING PLAN

1210

PROJECT No:

ADDRESS: 380 William Ave, Winnipeg, MB

— P
i § 1
. n \ |
b ) |
oy i _ ) Pl
i § 8 @ .
| E . E e
1 & EXISTING STEEL BEAM e
T " T0 REMAIN "
S @
o st | e 2
I o EXISTING STEEL . :
\ z 7 COLUMN TO REMAIN 7
§ b 3 S
: L - -
l . L T L
| Z S 8
] : 3 o [2°4
R 3 EXISTING STEEL BEAM 8
‘ § | g TO REMAN =
o f I o © P :
L Lol = = - o
EXISTING WOOD ROOF JOISTS ' . - . 2 EXISTING WOOD ROOF JOISTS
_T0 BEREMOVED | - 25 , &5 » REMOVED
) AT o oo ||
L oF exstBRIK ] L MM ] IREREEREN
e 2 L CHIMNEY ~ -
SRR £ N I N D
;EZ”” ?’”w"’“wmm”fj ém kT ’ \ {M
\ ! ) o |
e : 2 I
s [ 17 Za “ M
wl | 83 ) S 5
- g8l | =3 w e
— g B : 8= (R . -
e v B g w | b —8u
W;o“’“‘"‘“‘m@ | %E Emg e o
-1 N £ <D B 1
B i T PARTIAL DEMOLTION T T X P R S 7
i 8 ——“0F EXST BRICK R ) S
' - CHIMNEY L .. V
70 I | A I B I
E)HSTWG ImR 0R1§§F|c.~ RN L I
MASONRY 0
REMAIN, ITYPICAL
- EXISTING WOOD BEAM TO BE REMOVED
;\hzxgsruqu WOOD Bgmii EXISTING WOOD BEAM
.TO. REMAIN .\__ TO REMAIN
EXIST GRAVEL OVER TAR ROOF
AND WOOD SHEATHING TO BE _\
REMOVED, TYPICAL
EXISTING INTERIOR® BRICK—~
%28 NRY WALLS TO % EXISTING WOOD BEAM
L LD L [ REMANTYRIGL | L AN T TOREMAN N\ L ol I
I [ A S ————— B ——————— N\ S
A : %EXISUNQ BRICK | -} ; !
o N WALLS TO REMAN, ' 4 |
3 v ‘ TYPICAL e |
= n i & | .
& o = L1 |
" B ks L e
e || R [ 2
o L o | S
2 | 1| EXISTING VAULTED 2 N —8g
S ||| ROOF TO BE REMOVED \ | ] 23
S N S | -8
2.\\ H H o i 1 i ”.g% .
|1 | EXISTING WOOD BEAM—]
gl SR 8| T0 REMAN I i 28T
= b ig - - - ; ) 5 .
ol | Q % 5 -
= . é - f |
St % ;% &3 % EXISTING WOOD ROOF JOISTS
. WOOD RO?F JOISTS TO BE REM?VED e . 70 BE R§EMOVED N
g |

|
|

EXISTING ROOF DEMOLITION PLAN

SCALE: 1/4” = 1'-0"

o ALL EXISTING ROOFING, SHEATHING/DECKING, JOISTS, AND ROOF BEAMS TO BE
REMOVED UNLESS NOTED.

¢ CEILING STRUCTURE AND PLASTER TO REMAIN AND BE PROTECTED THROUGHOUT
PROJECT.

NEW ROOF CONSTRUCTION—

P

o Lo — DEMOLISH TOP OF

P P EXISTING BRICK CHIMNEY
SEE SECTIONS '

— PROVIDE METAL DECK CLOSURE STRIPS
c/w CONTINUOUS CAULKING ALL AROUND

|
|
NEW 1 1/27x22ga STEEL — 1\ |
DECK ‘\
F

CONT L3x3x1/4" ALL AROUND-
c/w 1/2" HILTI HIT 70

82’11 11/16"

a3

) ‘
Y
&
(P Mo r_‘ﬂ ————————— o S i E "
i MK °F" TYPICAL ROOF = E g
' DECK SUPPORT W |
§ | s S - ] E ..
MK H — | "o g 5 © |l rLax4x3/8" ANGLE FRAMING
o] b 3 & i '/ | AROUND ROOF HATC
O LB 5 ? B 3
T HEEE |
% @ & . S @bk §
i 2 ~ ‘
| ¥ = §
| [ 4 -
|
|
22" 0O.W.S.J. @ 5'-0" o/,c/ OMWSJ. @ 5'-0" ofc MK 'H'— s
2
(o))
d—
R
3
~-H
W6x15 —>HLN
a < SHOWN_~
-
b s
L ¢
B . : e
&S| | 1 1/2"%22ga STEEL ROOF DRCK -3
| 9% g 7]
o =
| 2 1 § |
| & 5-3 P T
L I \i
L e e WPl e VTR L N
o iy o - ZZ - - el o » =
ottt Nl | 1/ "“”“ T fv_zx_\” T “““‘“ T == —;? t
% 5. APPROX EXIST P s
(5 X DRAIN LOCATION (2 <
\3-3/ REFER TO MECH \3-3/
~an a\‘ » » PNTIY B » 2s &
N 24" OW.S.J. @ 540" o/c 26" O.W.SJ. @ 50" o/c 24" OW.SJ. ® 5-0" o/c /
~§¥ g S [Te,
N @ 2 - =
- - D = = | ™ [N ™
\ s = S =
g3 ol
| ;A G &
| S,
+ g k3
NEW ROOF DRAIN e > : NEW ROOF DRAIN 3
- LR P e — St - P - P - N
mmmmmmmmmmmmmmmmmmmm JJe ... 4 N I 1 SO . g
N A R I e I i
™
10-0" |, o | o 100"
-1 - - B
L/~ FALL ARREST ANCHOR 2| | |
<4 (VP 6 THUS) £3 1| - .
| A 1 |
,%-{ ) ﬂ— ) § o ” T ) £ o ” . ‘-’ ” "X &
I 24" OW.S.J. @ 5'-0" o/c | 26" OW.S.J. @ 5'-0" o/c § 24" OW.S.J. @ 5'-0" o/&,
Y a a
» i T ! .. \
| LMK 'J' TYPICAL STEEL { MK 'S TYPICAL STEEL
| | JOISTS BEARING . | | JOISTS BEARING
- ———MK 'F’ TYPICAL ROOF -
( DECK SUPPORT i o N
P i
P EXISTING TYNDALL CAP STONE | |  —REPOINT EXISTING PERIMETER
L TO BE RE-SET (ONE STONE) | | MASONRY MORTAR JOINTS,
P WP e vy P | | 1 TYPICAL AS REQURED HP

NEW ROOF FRAMING PLAN
SCALE:1/4" = 1'-0"
o DESIGN LIVE LOAD = 75 PSF

STEEL SCHEDULE

MK'A'

HSS 5x5x1/4 x 4’ HIGH STUB COLUMN ON 14°x14"x1” BASE PLATE C/W
4-3/4" DIA. x 32° LONG THREADED ROD ANCHOR BOLTS DRILLED AND

EPOXY GROUTED INTO EXISTING MASONRY.

MK'B'

10"x12"x3/4" BEARING PLATE C/W 2-3/4" DIA. x 32" LONG THREADED
ROD ANCHOR BOLTS DRILLED AND EPOXY GROUTED INTO EXISTING

MASONRY.

MK'C'

HSS 5x5x1/4 x 4’ HIGH STUB COLUMN ON 87x12°x 3/4” BASE PLATE
C/W 2-3/4" DIA. x 24" LONG THREADED ROD ANCHOR BOLT DRILLED

AND EPOXY GROUTED INTO EXISTING MASONRY.

o DESIGN DEAD LOAD = 20 PSF

+ PROVIDE 1" NON—SHRINK GROUT UNDER ALL
STEEL BEARING AND BASE PLATES TYPICAL.

MK 'F'
CONTINUOUS L3x3x1/4 STEEL ROOF DECK SUPPORT C/W 1/2" DIA. x

12" LONG THREADED ROD ANCHORS AT 24" 0/C DRILLED AND EPOXY
GROUTED INTO EXISTING MASONRY.

- MK'G
HSS 5x5x1/4 x 4 HIGH STUB COLUMN ON EXISTING W8 STEEL COLUMNS
AND ON EXISTING 6" DIA. PIPE COLUMNS,

MK'H'
CONTINUOUS HSS 5x5x1/4 HORIZONTAL BEAM ON HSS 4x4x1/4 STUB
COLUMNS SPACED AT 4' 0/C C/W 8"x12"x5/8" BASE PLATES AND

2-3/4" DIA. x 24" LONG THREADED ROD ANCHOR BOLTS DRILLED AND
EPOXY GROUTED INTO EXISTING MASONRY.

NOTES:

s |
et

No. 235

e t————
——

APECH

Certificate of Authorization

Crosier Kilgour & Partners Ltd.
Date: Nov 09, 2012

DRAWING LIST

SHEET No:

SHEET TITLE

$-1 DEMOLITION PLAN, NEW ROOF FRAMING PLAN

§-2 GENERAL NOTES, SECTIONS & DETAILS

$3 SECTIONS & DETAILS

1 | ISSUED FOR CONSTRUCTION

PW  l09/11/12

No. REVISION/DESCRIPTION BY |DATE

300-275 Carlton Street
Winnipeg, Manitoba R3C 5R6

T 204. 943. 7501
F 204. 943. 7507

2012-0551

-

Crosier Kilgour

& Partners Ltd.

CONSULTING STRUCTURAL ENGINEERS

AGER LITTLE ARCHITECTS 'N¢

202C - 275 Broadway - Winnipeg, MB R3C 4M6 - (204) 414-9191

SEAL
MS HJL PW HJL
DRAWN CHECKED DESIGNED APPROVED
DATE USER
2012.10.31 | APPROVAL

Q

PROJECT

THE CITY OF WINNIPEG

PLANNING, PROPERTY AND

Winnipég DEVELOPMENT DEPARTMENT
MUNICIPAL ACCOMMODATIONS

DIVISION

3-65 GARRY STREET, R3C 4K4

'CARNEGIE LIBRARY
ROOF REPLACEMENT

380 William Ave, Winnipeg, MB

(6" EMBED) ADHESI\//E - A\ {;;4’ MK 'D' MK 'J' SHEET
- ANCHORS @ 24" o/c ato1on " » » — TITLE
8'12° 5/8" OWSJ BEARING PLATES C/W 2-1/2" DIA. x 32" LONG 10"X12° 5/8" OWSJ BEARING PLATES C/W 2-1/2° DIA. x 32" LONG
THREADED ROD ANCHOR BOLTS DRLLED AND EFOXY GROUTED NTO THREADED éoo ANGHOR. BOLTS DRILLED {AND Ep(/)XY CROUED INTO DEMOLITION PLAN
TYPICAL CAP OVER EXISTING ' PXSTING MASONRY. NEW ROOF FRAMING PLAN
MK 'E’
m CHIMNEYS (2 TH US) 8"x12x5,/8" OWSJ BEARING PLATES C/W 2-1/2" DIA. x 18" LONG
— THREADED ROD ANCHOR BOLTS DRILLED AND EPOXY GROUTED INTO
S—-1 SCALE: 1 /4 = 1-0 EXISTING MASONRY. SCALE ::ROJECT SHEET No:
ASSHOWN | 1210 S-1

DRAWING SHEET SIZE: ARCH D (914mm x 610mm)






